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2 JIEFE 24 19,65 5,520 14,136
OARIeI2R4Y
11,7002 x4 x3bA 2k 123 19,656
0B 2R (LI|H )22 K% 29,586 24,660 4,96
OAIZtRI RS g 29,586
- R=LLE
19,9783 x1&*10AI 2H= 123 2,398
HBANME MABE
19,5653 x3E*15AI 2H+ 123 10,566
-E2HY gREL
21,267 3 x1H*15A1 2+ 123 3,829
S el
19,7123 3 *15A1 2t 123 10,645
“SIASUAIE S HREX
17,8023 x 1 *10A1 2t 128 2,148
201 er23| 1,400 1,400
01 At22te|bl 1,400 1,400
Oul=H| 1,400
-SRIAIEN FAYSE 7Y
200,0002 +7& 1,400
202 04| 9,360 9,360
01 SLHoIH 9,360 9,360
SRAZZ X 1204
130,000 x62* 12 9,360
Jl2ZHl(s8II=HH) 297,222 287,942 9,280
Jl=23H| 297,222 287,942 9,280
201 er2 3| 197,122 190,342 6,780
01 AtR2t2|HI 81,636 77,112 4,524
ORM29g JlE +=&41(36Y)
370,000 +36% 13,320
ORAM2E Iz SEHI(363)
210,000& »36H 7,560
ogxzFsd 13,920
LA (2, AEAEE)
60,0002 x2EH+116 13,920
Oggt+=ZH| 46,836
-LOIHHIAAE SAHI(2L, ASAIEE 8)
1,200,000& «12& 14,400




2A: sHIIs4EH
M HAHRAZH|(SLIIEHH)
gel: Jl=2dbl(sglI1s4H) CEERED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
TR R (1 aaE
350,000+ 12 4,200
-] YXt 40,0002 «12CH* 122 5,760
-t 2 23,0002 +0tH 122 2,484
SABAIE OBl Y 442
800,000& 122 9,600
AN EREY U HEHY 2482
1,000,000 +53] 5,000
=4 Y SUURE Yo 2
250,000 +62] 1,500
—QuuE AAE2
11,0003 x 1104 2% 123 1,452
-stE4a fA2e| E2H 610,000 43 2,440
02 S3=gHl 115,486 113,230 2,25
Os&k= € MA 55,000
—SAESE RER=S 100,000 «12& 1,200
-gal(AgetEae] 2 1)
200,000&x25 400
-2 3,100,000& 12& 37,200
-dotee 2= 1,000,0002 122 12,000
SRS 350,000+ 122 4,200
OAIZ &I X 22,900
-ARE & Ty |X2e
70,0002 *100CH 7,000
-S8J| RAl2c 1,000, 0002 «5CH 5,000
-A= =A2c 9,400
sA(EEX) 3,000,000& *14] 3,000
S MBS (EEE)
2,000,000 %14 2,000
CoEA 200,000 * 1204 A 2,400
SoIFA(E=X)
2,000,000& *14] 2,000
A 2EE M= FA2L
500,000 35 1,500
OXt& =Xl 37,586
-Ate =A2 1,000,000 *11CH 11,000
-Itg F=l 1,899& 1,400 £ ~10CH 26,586
202 04l 84,000 67,200 16,800
02 XN 84,000 67,200 16,800
OZ A 04| 200,000 x35E « 12 84,000
203 HE=AH] 14,600 14,400 200
01 D[22 PR FA| 5,000 5,000 0
(OPJEC sopeches B obarlal 5,000,000& 5,000
02 2 JRHH 2= 1,800 1,600 200
OFAINIE RS 40,0002 x45H 1,800




2A:

s8JI=4H

M HAHRAZH|(SLIIEHH)
Sl Jl=2gHl(seIIedH) (CH9: &S1)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
M EA2ER=A 7,800 7,800 0
ORN2ELRFTHI(2F M) 7,800
PSRRI (SEXIA )
300,000 x 12 3,600
SN SYHLET (ASHL D)
350,000& * 122 4,200
405 AHAHE S 1,500 16,000 14,500
01 AL =S F=HI 1,500 16,000 14,500
LES 7Y 1,500,000 *1CH 1,500




